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Quiz Date: 7th May 2020 

Direction (1-5): Study the following information carefully and answer the given 
questions: 
Eight persons P, Q, R, S, T, U, V and W are seated around a circular table. Some of them are 
facing towards the center and some outside the center.  
P sits second to the left of the one who sits third to the left of W. Only one person sits between 
Q and the one who sits immediate left of P. Immediate neighbours of R facing opposite 
directions. W and P facing opposite direction. Q is not an immediate neighbour of P. S sits 
second to the left of the one who is an immediate neighbour of Q. T sits third to the left of S 
and an immediate neighbour of P. U sits third to the right of V who is facing same direction 
as S but opposite of T. Both P and S facing same direction. Both immediate neighbour of Q 
facing opposite directions. U does not face outside. 
 
Q1. Who sits third to the left of the one who is immediate right of S? 
(a) P 
(b) U  
(c) V 
(d) R 
(e) W 
 
Q2. How many persons sitting between V and the one who sits immediate right of U? 
(a) One  
(b) Five 
(c) Four 
(d) Three 
(e) Two 
 
Q3. Who is sitting exactly between W and T? 
(a) V 
(b) D 
(c) Q 
(d) P 
(e) Both (a) and (c) 
 
Q4. Who among the following is an immediate neighbor of S and U? 
(a) the one who sits opposite to T 
(b) P 
(c) The one who sits second to the right of P 
(d) V 
(e) Q 
 
Q5. What is the position of P with respect to W? 
(a)  Second to the right 
(b) Third to the right  
(c) Second to the left 
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(d) Fourth to the left 
(e) Third to the left 
 
Q6. How many pairs of letters are there in the word “TRANSPARENCY” each of which have 
as many letters between them in the word as they have between them in the English 
alphabetical series? 
(a) four 
(b) One 
(c) three 
(d) two 
(e) More than four 
 
Q7. In a number 471653982 if all digits are arranged in ascending order from left to right 
within the number then how many digits will remain on the same position?  
(a) One    
(b) Two 
(c) Three    
(d) None 
(e) Four 
 
Q8. Which of the following is the third letter from the right end of the meaningful word 
formed from the second, third, sixth and seventh letters of the word “RELUCTANCE’. If 
more than one word is formed your answer will be Z. 
(a)A 
(b)E 
(c)Z 
(d)S 
(e)T 
 
Q9. Ravi starts walking towards the east from his home to go to his college. He walks for 10 
km in the east, takes a left turn, walks 20 km then turn left and walk 15m and reaches his 
college. In which direction is her home with respect to her college?   
(a) Northwest    
(b) West   
(c) North    
(d) Southeast 
(e) East   
 
Q10. Introducing a boy, a girl says, “He is the son of the only sister of my mother’s brother.” 
How is the boy related to that girl? 
(a) Father-in-law   
(b) Brother 
(c) Cousin    
(d) Niece 
(e) Nephew  
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Q11. Which of the following letter is 2nd to the right of the letter which is 7th from the right 
end, if each of the alphabets in the word ‘INVESTIGATION’ is arranged in alphabetical order 
from left to right? 
(a) O 
(b) S 
(c) I 
(d) G 
(e) N 
 
Q12. What will come in place of question-mark (?) in the following series?  
AZ, BY, CX, ? 
(a) WD    
(b) DW 
(c) DE    
(d) DX 
(e) DU 
 
Q13. There are five persons A, B, C, D and E sit in a row facing north, B sits second to the left 
of A, E sits second to the right of D. Who among the following sits exactly middle in the 
row? 
(a) E 
(b) B 
(c) D 
(d) C 
(e) Can’t be determine 
 
Q14.In a row of children facing North, B is 12th from the right end and is fifth to the right of 
A who is 15th from the left end. Then, how many children are there in the row? 
(a) 31 
(b) 40 
(c) 26 
(d) 42 
(e) None of these 
 
Q15.How many pairs of letters are there in the word ‘ENFORCEMENT’, each of which have 
as many letters between then in the word as they have between then in the English 
alphabet? 
(a)One 
(b)Two 
(c)Three 
(d)None 
(e) More than Three 
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Solutions 
Solutions (1-5): 
Sol. 

 
S1. Ans.(d) 
S2. Ans.(d) 
S3. Ans.(e) 
S4. Ans.(a) 
S5. Ans.(b) 
 
S6. Ans(e) 
Sol.  

 
 
S7. Ans.(b) 
Sol. Original Number- 471653982 
After rearrangement- 123456789 
 
S8. Ans.(c) 
 
S9. Ans.(d) 
 
S10. Ans.(b) 
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S11. Ans.(a) 
Sol. original word- INVESTIGATION 
After rearrangement- AEGIIINNOSTTV 
 
S12. Ans.(b) 
 
S13. Ans.(e) 
 
S14. Ans.(a) 
Sol. Position of B from right is = 12 
Position of A from left is = 15 
According to the question B is fifth to the right of A, that means position of B from left is 20 
So, No. of children in the row is= 12+20-1= 31 
 
S15. Ans.(b) 
Sol. 
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